
1) 25 + 0

Answer: ____________

2) 59% of 35

Answer: ____________

3) 78.7 + 57.3

Answer: ____________

4) Find the mean of the following set of data:

2, 0, 9

Answer: ____________

5) Convert the following improper 
fraction 16/9 + 54/8 into a mixed 
number

Answer: ____________

6) Share 38 in the ratio 3:16

Answer: ____________

7) A number was shared in the ratio 
16:4. The smaller share was 31. 
What was the total amount shared?

Answer: ____________

8) What would you multiply by to 
decrease an amount by 29%?

Answer: ____________

9) 'What is the probability of rolling a 
even prime number.when rolling a dice

Answer: ____________

10) b

a o c
Measure angle boc 

Answer: ____________

11) 86 - 64

Answer: ____________

12) Solve 13x2 + 11x - 20 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

13) $298.00 earning 2% compound 
interest for 9 years.

Answer: ____________

14) Round 14.0301 to the nearest 10000

Answer: ____________

15) Round 24.0259914 to the nearest 
whole number.

Answer: ____________
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16) Write 1 x 109 as a normal number.

Answer: ____________

17) Write 9 x 101 as a normal number.

Answer: ____________

18) What would you multiply by to 
decrease an amount by 67%?

Answer: ____________

19)

'Name the type of angle.

Answer: ____________

20) Decrease 218 by 3/109

Answer: ____________

21) Convert the following fraction into a 
mixed number: 14/6

Answer: ____________

22) Simplify 1:2

Answer: ____________

23) An amount was decreased by 6.5% to 
$256.00. Find the original amount.

Answer: ____________

24) 17/
5 ÷ 16

/7

Answer: ____________

25) (0) x (-19)

Answer: ____________

26) 5   2/8 - 5   9/10

Answer: ____________

27) Find the median of the following set of data:

23, 24, 14, 12, 6, 39

Answer: ____________

28) Solve 4d2 - 15d + 3 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

29) Share 7 in the ratio 4:3

Answer: ____________

30) A number was shared in the ratio 
2:6. The smaller share was 35. What 
was the larger amount?

Answer: ____________
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31) Find perimeter of 
rectangle having 
sides a = 94 ft 
and b = 72 ft

Answer: ____________

32) Find perimeter of 
rectangle having 
sides a = 94 ft 
and b = 72 ft

Answer: ____________

33) 68% of 49

Answer: ____________

34) Factorise d2 + 11d + 18

Answer: ____________

35)
36

3 /6

Answer: ____________

36) Round 5.941 to 2 significant figures.

Answer: ____________

37) Write 7.1 x 104 as a normal number.

Answer: ____________

38) A number is chosen at random from 
1 to 25. Find the probability of 
selecting number less than 10.

Answer: ____________

39) Solve by factorising 
s2 + 3s - 10 = 0

Answer: ____________

40)

A = 28  B
Find the Angle at side B.

Answer: ____________

41) Find perimeter of 
triangle
a = 33 cm , b = 89 
cm

Answer: ____________

42) Find the mean of the following set of data:

5, 0.1, 6, 5

Answer: ____________

43) Find the mode of the following set of data:

10, 10, 10, 10, 24, 24, 24, 2, 2, 43, 
43, 43, 43, 43, 38, 38, 10, 10, 10, 
10, 10

Answer: ____________

44) Round 5.5 to the nearest 10000

Answer: ____________

45) Convert the following mixed number 
31/2 into an improper fraction.

Answer: ____________
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46)
11  Find Volume of 
                         Square Pyramid 

11
11

Answer: ____________

47)
16

Volume of Cone 
16

Answer: ____________

48) 83 - 72

Answer: ____________

49) 54 ÷ 18

Answer: ____________

50) Convert the following improper 
fraction 68/9 + 11/6 into a mixed 
number

Answer: ____________

Total: ___ / 50
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Answers:

1) 25 2) 20.65 3) 136 4) 3.67 5) 71/6 6) 2 : 36 7) 155

8) 0.71 9) 1/6 10) 66 11) 22 12) x = 0.9 or -1.7 13) $356.14 14) 14.0301

15) 24 16) 1000000000 17) 90 18) 0.33 19) Right 20) 212 21) 21/3

22) 1 : 2 23) $239.36 24) 139/80 25) 26) 13/20 27) 13 28) d = 3.5 or 0.2

29) 1 : 6 30) 105 31) 332ft 32) 332ft 33) 33.32 34) (d + 2)(d + 9) 35) 6

36) 5.9 37) 71000 38) 9/25 39) s = 2 or -5 40) 152 41) 211cm 42) 4.03

43) 10 44) 5.5 45) 7/2 46) 443.66666666667 47) 4289.3211697013 48) 11 49) 3

50) 81/18
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